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AN UASAHD
Hu: ZEoAMHIA B
chel: QRAAMEIA A (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A F=XH S =AY 1,320 1,320 0
OQEAIZ AR 132,000& * 102/ 1,320
303 &3 6,500 6,500 0
01 Z&= 6,500 6,500 0
oYY 2RY HFIIT At
150,000& * 30¥ 4,500
OCIA0tL 2R H Al&3 2,000
—R2AMH A3 1,000
ESESES 500,000& = 10 2 A 500
= 300,000& = 10 2 A 300
&d 200,000& = 10 2 A 200
—R=3SRE AYS 1,000
ESE 300,000& = 19 300
= 200,000& » 29 400
dd 100,000& » 39H 300
A=A 15,600 15,600 0
= 15,600
101 @124l 13,149 14,197 21,048
= 13,149
04 JIZHHZ2Z2XNSE+ 13,149 14,197 A 1,048
Oags gREX 13,149
—Jl2= 41,6803 * 1% = 250 10,420
= 10,420
—52dZ2RE 41,6803 * 18 » 36 1,501
= 1,501
— 42 = 11,920,480& = 0.103 1,228
= 1,228
201 Let2d] 2,451 1,403 1,048
= 2,451
01 At 221l 2,451 1,403 1,048
Oget=&H| 2,451
— e 258 =5 MA
4002 = 2,0000H 800
= 800
—HELSER 225 7Y 1,651,000& 1,651
= 1,651
EX 2= 2el 504,897 684,498 A 179,601
= 3,000
< 5,000
e 496,897
A& zte] 120,054 146,562 A 26,508
AEESR2e 29,850 33,498 N 3,648
201 £B-2dH| 22,890 25,098 A2,208




AN UASAL
gz EX 25 22

SR RVEE. ] (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| d| 11,160 13,368 A2,208
Ogtt4=24| 10,320
—2A2X(AM)F7 L
23,000& = 20BFtA = 12& 5,520
— NE=ZLUFHMEE(REEE) 4,800
Z2/0AEEEH#3002 2=
2,000 = 2= * 1,0000H4 4,000
93 2IM 9 35
50,000 * 4= = 43| 800
Oo2d9sd 840
- ZREXNRAA +Y
70,0002 * 6H x 23] 840
02 2%l 11,730 11,730 0
OZ2322 ¥ HA 1,350
—EXols S EXA &
270 = 5, 0000H 1,350
OA & &l 8 XYl 10,380
~NHADERBEI SXBL
13,000,000& = 20§ = 0.03 780
—NEES2A2ANAE RAE$
800,000& * 14 ~ 12& 9,600
202 o4 | 5,760 7,200 N 1,440
01 2L bl 5,760 7,200 A 1,440
OXN&E=EE HAI RFA
120,000 = 29 * 12& 2,880
OEXOls EXNZAH E2FX
120,000 = 29 = 12&€ 2,880
301 et A= 1,200 1,200 0
09 HAIAHI BEAZ 1,200 1,200 0
OZBREXNZEAS SAXZA 24
20,0008 = 6Y x 10¢ 1,200
HLUAEXTEEH A 52,964 63,064 A 10,100
201 LBt ]| 43,264 48,364 A5,100
01 AP 22| d| 39,600 44,700 A5,100
Ogbt4=24| 39,600
— ANE=2LHMZE (HPIS0EZEERE) Y 9,600
EY 200,000& ~ 1= » 3™ « 12& 7,200
E Xl 40,000& = 52 = 128 2,400
—ZH=LX SE =2 200,000& = 50 10,000
— =) |=E SEEXZAH 100,0008 * 2008 20,000
02 E2=22%H| 3,664 3,664 0
OA & &Hl 8 XYl 3,664
— GPS?I 4 = & & H|
21,800,000& = 1CH = 0.08 1,744
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AN UASAL
gz EX 25 22

Sl XF2e (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—XNESZAMEH (ESAHOA)
24,000,000& = 1CH = 0.08 1,920
202 o4dl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
OXNEZAHSE Jd g2=ad
120,000& » 3¥ » 128 4,320
203 R =&l 1,880 1,880 0
03 AIMF=XH R =AY 1,880 1,880 0
OXNHAIM JLFa 188,000& * 103l 1,880
405 TtHakF S| 3,500 8,500 A5,000
01 AL EFH S 3,500 8,500 A5,000
OXN&EIIEE EAUE Hteld
10,000& * 50&H 500
O=gZ2ns B2 Hteld 30,000& * 100 3,000
NE2A HotstAL 20,000 50,000 230,000
207 51 OH £l 20,000 50,000 30,000
01 2284 20,000 50,000 30,000
OXNHZSE SEAAH 2HAE(19,6000H)
20,000, 000& 20,000
K= THZE AFAHS 17,240 0 17,240
201 Let24d] 17,240 0 17,240
01 At 2teltl 17,240 0 17,240
OgEer==EH| 15,700
~NEWEA B2 S22 RF
50,000& * 14042 700
—NEHWEAL 22 JIES M
5,000& * 1,000H 5,000
~NEMEA ZHBOT LY 248
10,000, 000& 10,000
Oo=24d=+¢ 1,540
—NEMWEARAE 2 E4+E
70,000& = 5% = 29H 700
—ZAZHAA BHLY
70,000& * 6% = 23] 840
NelZ32stAatd 216,959 392,920 A 175,961
= 3,000
< 5,000
e 208,959
EXNSSHEEY 29 39,280 16,380 22,900
201 Lt 36,400 13,500 22,900
01 At 2t 2l 2,400 2,400 0
Oger==gH| 2,400
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gz EX 25 22

& XelZBESAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—ENZHIRY 29 223 £
200,000& = 12& 2,400
02 =224l 34,000 11,100 22,900
OA& & HlI S X bl 34,000
—KLIS(SF=EXIH B A AE )R X224l (geodt
S4EA) 1,500,000& * 4EA 6,000
—IIVNSAFEANLE KX 2l
325,000,000& = 0.08 26,000
— MU HESAMAE S 2l
20,000,000& = 2CH = 0.05 2,000
202 44l 2,880 2,880 0
01 = LH 4 HI 2,880 2,880 0
OEXNZHHLY 257
120,000& » 2H » 128 2,880
C2H Y ASHSEEAY 177,679 376,540 A 198,861
= 3,000
< 5,000
[ia 169,679
201 Let24E] 105,980 101,320 4,660
01 At 22l 66,980 71,320 A 4,340
Ogt=&H| 64,180
—E2FEFA FH 22H EXFY
50,000& = 40 2,000
—CReF4s FHy EH 2379
200,000& * 48 = 23l 1,600
— S22 FA FH ZetZegl ARE7Y
320,000& » 838 2,560
—E2%FA DANYRE EXNFY
23,000& = 202t « 123 5,520
—S2YHFA EE EAHE HH
50,0003 * 2000 & 1,000
—E2EFA 28 22 MAH
2003 = 30,0008 6,000
—E2FA BB JIEE MAH
2,500& = 2,0004 5,000
—E2EFA E2EM MH
1,000& = 10,0000H 10,000
—E2FFA KT HH
2,000& = 10,0005 20,000
~CRYEL HOGUS HE 89
350& = 30,000AllCH 10,500
Oo2g+¢ 2,800
-~ CRYfAeY FHLY
0,000& = 102 = 43 2,800
02 2324l 39,000 30,000 9,000
Oz22= & HMA 9,000
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e XNelZBESAIY (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
—CEREFL HOIOS 2B
300 = 30,0000H 9,000
OA&E & HI KX Y| 30,000
~CERYD Y ASHST RNL4L
30,000,000& 30,000
202 044l 4,320 4,320 0
01 2L I 4,320 4,320 0
OE2YTA HREX
120,000& = 3% * 128 4,320
401 Al HI L 2 0HHI 40,000 230,000 A 190,000
01 Al& H| 40,000 230,000 A 190,000
Odl0|ECIEE ZEISZAIQTAIAES
20,000,000 * 2J0 A 40,000
403 XX SHH S K20| & 9,379 5,900 3,479
02 2II2S0CHeCH& AL I 9,379 5,900 3,479
OZIINT=ATZEAAH QI 2 29
5,900,000& 5,900
OEZzHFAII2E S8 AlY 3,479,000 3,479
405 XHA&HF S HI 18,000 35,000 A 17,000
= 3,000
= 5,000
= 10,000
01 XA 2 FF S H| 18,000 35,000 A 17,000
OBEAT2Z2S T2HFA CHUHAIE F=IHE X
18,000,000& 18,000
= 3,000
& 5,000
= 10,000
EX &2 167,884 145,016 22,868
HE Z2AIXIDOF 22 167,884 145,016 22,868
101 e1214| 19,013 18,025 988
04 J|12ZtHIZ22NEES 19,013 18,025 988
OMEZAIKIEA H2E X 19,013
A=) 41,680 * 2% x 140 11,671
— 524224 41,680 ~ 29 x 20¢ 1,668
—AlEE = 13,337,600 * 0.103 1,374
— &= 2,150,0008 = 2H4 4,300
201 gBt2Ad| 119,551 122,671 A 3,120
01 AP 22| H| 114,546 114,546 0
Ogbt4=24| 112,306
—Xotge2d 22X 2
2,200 « 1,600% 3,520




AN UASAL
gz EX 25 22

¢helr EXZel (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—HESAMXI SEHF 2
12& = 276,000 Xl 3,312
—E2H XN HHH(A) A28 7
210,000& * 58 « 23l 2,100
—DHDEEDI AR PY(XINHKE &)
180,000& = 304 = 23l 1,080
— Kot BE5+=+8 57,520
- MEX HEFE
586& * 140,0002' Xl » 0.5 41,020
CURER AE4ER
6,600& = 3,000 Xl = 0.5 9,900
- 012 E HESE
22,000& = 300 Xl 6,600
—XJt2e MA(SX) 72 7,174
- ZANUAEXR
123 « 276,000 Xl = 1.1 = 0.5 1,822
SHZAME L ZHEN
10& = 276,000 Xl 2,760
-EEXZAM 12& = 276,000 Xl * 0.5 1,656
PAPIES 263 = 12,0000 = 3% 936
—XNEZAME THEX(EXN) 7
1,000& = 1,20000 » 33 3,600
— 82 MA(XIH 22 2 oA 0daH
=) 50,0003 * 148 = 43| 2,800
— SHUHEE &Y &Y
1,000& = 1,20004 1,200
—HeRYgs &¢F A58 30,000,000 30,000
o=z2g=¢ 2,240
—SESHEIIFAS S
70,0003 = 8H =« 43| 2,240
02 =224l 5,005 8,125 A 3,120
03322 % HAl 3,965
— 2348 SI UEHE S 1,930& 50004 965
—EXolsS SIESTA 88
300& * 10,0000H 3,000
OA&EHl sl 1,040
— At =88 224
13,000,000& = 1CH = 0.08 1,040
202 Oddl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
OMESAKX I HEFLA
120,000& » 29 » 18Y 4,320
405 RH&HF S HI 25,000 0 25,000
01 AL EZFH S 25,000 0 25,000
OFS4 HIOtAIAE 2 11,000,000 * 2CH 22,000




AN UASAL
gz EX 25 22
¢ EXZel (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

ORS4 HIAIAE AE PCHE
1,

00,0002 * 2CH 3,000
20l 1,268,240 1,327,840 ~59,600
120 21 & 1,268,240 1,327,840 ~59,600
oINS 29 1,268,240 1,327,840 59,600
201 LBt2 628,920 596,520 32,400
01 At 2teltl 3,600 3,600 0
Ou =l 1,500
— 1022 SH HYS(HYS MG, BY
s) 300,0002 * 5% 1,500
O3zl 1,500
—f0220sH 29
6,0008 * 2% » 125% 1,500
ogxtz 600
— 02 Hel UYL
200,0008 * 1Z « 33 600
02 3322l 625,320 592,920 32,400
03383 % HMAl 621,000
—JIZ2S L(FAS. 14HsSY)
6,000 * 6,500 * 128 468,000
—JI2S S(5¥S, 14HsSY)
7,0008 * 1,200 * 12¢ 100,800
—AE II2S L(ZAUS, 4HSH)
6,0008 * 2005 * 12 14,400
—AE 2S5 2(5ES, 4HSH)
7,000 * 505 « 12% 4,200
- 3HY 2556 (SSS)
7,000 * 4005 « 12% 33,600
OAN&ZBIKXbI 3,600
—JI2 - BoE ALY R 24
300,000& * 14! = 128 3,600
Oxte o et 720
— 102l ¥ el
60,0008 * 104 » 122 720
202 OfH 4,320 4,320 0
01 2o b 4,320 4,320 0
Orezlsl 42 el
120,0008 * 3% * 122 4,320
206 M 24 177,000 197,000 ~.20,000
01 MEHI 177,000 197,000 ~.20,000
OxsaZI 7 48,500
—dTA(2rSR) 60,000& * 350H 21,000
—HXA RUE(2SE)
45,0002 * 500H 22,500
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AN UASAL

g oMoy
20 213 (Sl & &)

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
—JE2s8 |FUE 1,000,000& * 54 5,000
O AINA T Q] 35,000& = 7004 24,500
0SJI? YIRS, HoS)
200,000& = 1004 20,000
OEots & ¢l 100,000& * 200K 20,000
OCOM CHH D], &xZ Q! 56,000
— OtE D 40,000& * 7004 28,000
— g 40,000& = 70004 28,000
ocvEd 2 1,500 = 2,000m 3,000
OVEA 7¢ 1,5002 * 2,000m 3,000
0424 X 2 32 7
2,000,000& = 14 2,000
401 Al HIL 200 458,000 530,000 AT72,000
01 Al& H| 458,000 530,000 AT72,000
OBoS - JI28 AXAY 188,000
—Bots &% 108,000
PNESE=: 2,000,000& * 15 30,000
HF=2=H 1,300,000& = 60S 78,000
—Jt2s &1 80,000
- X=E 6,000,000& * 10S 60,000
PSRN = 2,000,000& *x10S 20,000
Oz - B2ts X 2 ALY (6906 )
120,000,000 120,000
O8Ag & L5 JI2 - B0t - ESAY
150,000,000 150,000
HESHAL (2R EAY) 44 824 46,616 N1,792
| (I =2 AL 44,824 46,616 N1,792
SHH(2AZAD) 44,824 46,616 1,792
201 Bt A H| 26,224 27,416 A1,192
01 At 22l ] 26,224 27,416 A 1,192
Ogbt=2H| 8,800,000& 8,800
OZ2 &l 6,000& * 22 % 11 = 128 17,424
202 0db] 13,200 13,800 A 600
01 2L Y| 13,200 13,800 A 600
OJ2gsd 50,0008 * 229 = 12& 13,200
203 LR =&Y| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
0O30¢! 0] 6t 350,000& = 12& 4,200
204 & 2 =S A H| 1,200 1,200 0
01 MM S LRHAH| 1,200 1,200 0
OXN#MI AL LHAHY| 100,000& * 128 1,200




